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QUESTION 1

Which of the following memory technologies has the HIGHEST cost to implement? 

A. ECC 

B. RAID 

C. Pairing 

D. Registered 

Correct Answer: B 

 

QUESTION 2

Which of the following is an SLA? 

A. A document stating the impact analysis of a nonfunctional server. 

B. A contract that details the device replacement time frames. 

C. A contract that details the correct equipment disposal laws. 

D. A statement of compliance with local laws and regulations. 

Correct Answer: B 

 

QUESTION 3

Which of the following must be configured on printers so that the server can properly monitor details on page counts? 

A. WMI 

B. DHCP 

C. SNMP 

D. MIB 

Correct Answer: C 

 

QUESTION 4

A technician needs to add a processor to a server. Which of the following specifications should the technician examine?
(Select THREE). 

A. Bus multiplier 
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B. Processor speed 

C. Socket type 

D. Processor stepping 

E. L3 cache size 

F. Thermal specifications 

Correct Answer: BCD 

 

QUESTION 5

Which of the following ports should be open on a server that provides IP addressing for clients? 

A. TCP 22 

B. TCP 25 

C. UDP 53 

D. UDP 67 

Correct Answer: D 
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